
 

2-1. A driver takes 3.5 s to react to a complex situation while 

traveling at a speed of 60 mi/h. How far does the vehicle travel 

before the driver initiates a physical response to the situation (i.e., 

putting his or her foot on the brake)? 

dr=1.47st=1.47 × 60 × 3.5=308.7 ft 

2-2. A driver traveling at 65 mi/h rounds a curve on a level grade 

to see a truck overturned across the roadway at a distance of 350 

ft. If the .driver is able to decelerate at a rate of 10 ft/s2, at what 

speed will the vehicle hit the truck? Plot the result for reaction 

times ranging from 0.50 to 5.00 s in increments of 0.5 s. 

Comment on the results. 

 ادامه مایل 65 سرعت با العمل عکس زمان این در حرکت به او بیند، می را شده واژگون کامیون ابتدا در خودرو وقتی
 کردن ترمز براي موجود فواصل بنابراین. کرد خواهد طی را  t95.55t=×  65×  1.47 خودرو زمان، این طی در. میدهد
 کامیون به خودرو اینکه از قبل است، شتاب کاهش براي که است اي فاصله این. بود خواهد فوت t95.55-350 برابر

 داشته باشد. برخورد شده واژگون

 فاصله ترمز

F= 𝟏𝟏𝟏𝟏
𝟑𝟑𝟑𝟑.𝟐𝟐

 = 0.31 

db= 𝑺𝑺𝑺𝑺𝟐𝟐−𝑺𝑺𝑺𝑺𝟐𝟐

𝟑𝟑𝟑𝟑(𝑭𝑭±𝟎𝟎.𝟎𝟎𝟎𝟎𝑮𝑮)
 = 𝟔𝟔𝟔𝟔

𝟐𝟐−𝑺𝑺𝑺𝑺𝟐𝟐

𝟑𝟑𝟑𝟑(𝟎𝟎.𝟑𝟑𝟑𝟑)
 = 350 - 95.55t  

)مایل بر ساعتسرعت نهایی ( فاصله ترمز (فوت) فاصله عکس العمل (فوت) زمان عکس العمل (ثانیه)  
0,5 47,775 302,2 37,6 
1 95,55 254,45 43,1 

1,5 143,325 206,675 47,98 
2 191,1 158,9 52,41 

2,5 238,875 111,125 56,5 
3 286,65 63,35 60,3 



 

3,5 334,425 15,575 63,87 
4 382,2 0 65 

4,5 429,975 0 65 
5 477,75 0 65 

 ساعت بر مایل 65 کامل سرعت با کامیون با خودرو،  3,75 تقریبا زمان براي کند. می تصادف کامیون با صورت هر در خودرو
 .کرد خواهد تصادف

2-3. A car hits a tree at an estimated speed of 25 mi/h on a 3% 

upgrade. If skid marks of 120 ft are observed on dry pavement (F 

= 0.35) followed by 250 ft (F = 0.25) on a grass-stabilized 

shoulder, estimate the initial speed of the vehicle just before the 

pavement skid began.  

db= 𝑺𝑺𝑺𝑺𝟐𝟐−𝑺𝑺𝑺𝑺𝟐𝟐

𝟑𝟑𝟑𝟑(𝑭𝑭±𝟎𝟎.𝟎𝟎𝟎𝟎𝑮𝑮)
 = 𝑺𝑺𝑺𝑺𝟐𝟐−𝟐𝟐𝟐𝟐𝟐𝟐

𝟑𝟑𝟑𝟑(𝟎𝟎.𝟐𝟐𝟐𝟐+𝟎𝟎.𝟎𝟎𝟎𝟎)
 = 250 ⇒ Si=52.2 mi/h 

db= 𝑺𝑺𝑺𝑺𝟐𝟐−𝑺𝑺𝑺𝑺𝟐𝟐

𝟑𝟑𝟑𝟑(𝑭𝑭±𝟎𝟎.𝟎𝟎𝟎𝟎𝑮𝑮)
 = 𝑺𝑺𝑺𝑺𝟐𝟐−𝟓𝟓𝟓𝟓.𝟐𝟐𝟐𝟐

𝟑𝟑𝟑𝟑(𝟎𝟎.𝟑𝟑𝟑𝟑+𝟎𝟎.𝟎𝟎𝟎𝟎)
 = 120 ⇒ Si=63.97 mi/h 

 !است بوده ساعت بر مایل 63,97 خودرو سرعت شود، می شروع سریدن وقتی بنابراین

2-4. Drivers must slow down from 60 mi/h to 40 mi/h to 

negotiate a severe curve on a rural highway. A warning sign for 

the curve is clearly visible for a  distance of 120 ft. · How far in 

advance of the curve must the sign be located· to ensure that  

vehicles have sufficient distance to decelerate safely? Use the 

standard reaction time and deceleration rate recommended by 

AASHTO for basic braking maneuvers. 

F=0.3478=𝟏𝟏𝟏𝟏.𝟐𝟐ثانیه است و ضریب اصطکاك بر مبناي نرخ کاهش شتاب استاندارد اشتو برابر با  2,5برابر با  tالعمل زمان عکس
𝟑𝟑𝟑𝟑.𝟐𝟐

 
 است.

 



 

d=dr + db =1.47St+ 𝑺𝑺𝑺𝑺𝟐𝟐−𝑺𝑺𝑺𝑺𝟐𝟐

𝟑𝟑𝟑𝟑(𝑭𝑭±𝟎𝟎.𝟎𝟎𝟎𝟎𝑮𝑮)
 = 1.47×60×2.5+ 60

2−402

30(0.3478)
=412.18 ft 

 :گیرد قرار زیر فاصله در باید علامت موقعیت بنابراین است، مشاهده قابل فوتی 120 فاصله از به وضوح علامت که آنجا از

412.18 – 120 = 292.18 ft 

2-5. How long should the "yellow" signal be for vehicles 

approaching a traffic signal on a 2% downgrade at a speed of 40 

mi/h? use a standard reaction time of 1.Os and the standard 

AASHTO deceleration rate. 

 اجازه باشد، داشته تقاطع به ورود ادامه براي تقاطع خط از عبور قبل ایمن بصورت توقفی تواند نمی که خودرویی به که باشد بلند کافی اندازه به باید زرد چراغ
 ایمنی توقف فاصله قبل باید شود تقاطع وارد زرد چراغ طی در داشته اجازه که خودرویی آخرین بنابراین. بدهد را ساعت بر مایل 40 سرعت با تقاطع به ورود
 :از است عبارت حالت این در ایمن فتوق فاصله. است شده زرد چراغ که وقتی باشد،

d=dr + db =1.47St+ 𝑺𝑺𝑺𝑺𝟐𝟐−𝑺𝑺𝑺𝑺𝟐𝟐

𝟑𝟑𝟑𝟑(𝑭𝑭±𝟎𝟎.𝟎𝟎𝟎𝟎𝑮𝑮)
 = 1.47×40×1+ 402−02

30(0.3478−0.02)
=221.5 ft 

 :کند یم یط 40 فوت را با سرعت 221,5  است که خودرو یطول چراغ زرد زمان

d=1.47St ⇒ t = 𝑑𝑑
1.47𝑆𝑆

 = 221.5
1.47×40

 = 3.767 sec 

2-6. What is the safe stopping distance for a section of rural 

freeway with a design speed of 80 mi/h on a 3% downgrade? 

d=dr+db =1.47St+ 𝑆𝑆𝑆𝑆2−𝑆𝑆𝑆𝑆2

30(𝐹𝐹±0.01𝐺𝐺)
=1.47×80×2.5+ 802−02

30(0.3478−0.03)
=965.28 ft 

2-7. What minimum radius of curvature- may be designed for 

safe operation of vehicles at 70 mi/h if the maximum rate of super 

elevation (e) is 6% and the maximum coefficient of side friction (f) 

is 0.1O? 

d= 𝑺𝑺𝟐𝟐

𝟏𝟏𝟏𝟏(𝟎𝟎.𝟎𝟎𝟎𝟎𝒆𝒆+𝑭𝑭)
 = 𝟕𝟕𝟕𝟕𝟐𝟐

𝟏𝟏𝟏𝟏(𝟎𝟎.𝟎𝟎𝟎𝟎×𝟔𝟔+𝟎𝟎.𝟏𝟏)
 = 2041.66 ft حداقل شعاع قوس 


